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bubbles for question booklet number roll number or it there is any discrepancy in the
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become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation duc to incorrect marking or careless handling by the
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I. Ifaand B be the roots of x> — 2x = 2 0. then for any positive integer n. o + =

I n

1 .
5 nmn 5
(A) EECOS'— By 2° cos%
n "
() 22sin2E (D) 22 sin T
4 4

. . A L .2 . C
2. Roots of the equation (I+x)=" + (I —x)"" = 0 _where n is a positive integer. are all on
(A) thereal axis (B) the imaginary axis

ST

(C) hciincy=ux : {3 hedingy =2

3. Let the points A, B and C represent complex numbers 7. 7, and 75 respectively and
there exists scalars p. q. v such that pZ, + g7, +r7, = 0. Then
(A)Y A, Band C are never collinear

(B) A.BandC arecollinearifp+q+r=20

(C) A.Band C are vertices of a right-angled wriangle o3
R B
(D) A. Band C are vertices of an isosceles triangle. :f'* g-‘] t
= ‘,.‘ i
4. Let Z be any complex numbe{_ihen T
Re(Z) |+ Im(7Z AR+ Im(7) ]
’JE -\,’3
R —1 e
©) IZI;| e(Z)|-[Im(Z)] D) Z!?"|RL(Z" m(Z)

V2 V2

]|I a !13+c2+hc|[
5. TetA=11 b ¢?+a”+acl. Then

2 3
Il ¢ a+b +ab

(A) a—bisthe only linear tactor of \

(B) b —cisthe only linear factor ol \

(C) c—ais the only lincar [actor of A

(D) a-b.b—c.c—aareall factors ol \
JELET B.Sc. 3
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(_b+t:)3 a’ a”
6 If| b (c+ a)” b> |=kabc(a+b+c)i then k=
¢? ¢? (a+b)”
(A) 1 (B) 2
(C) 3 (D) 4
7. Consider the system of equations
x+v+z=0
2x-v+4z=0
x+35y—-T77=0 ,}“.a;
The system has “-i'__{'\
(A) infinitely many soiuLions_f-‘" _':"‘} (B) {initc number of non-zero solutions
(C) only trivial solution - / (D) unique non-trivial solution
a+b 3a+b |
8. LetA=|2a+b 4a+b | Then
4a+b 6a+b |
(A) A=0 (By A=0
(C) A<O (D) A=ab?
9. M and G arc two matrices such that
m, m, ms 0y 9> 93
M=|n, n, nylandM-G=Inp 1 !
bt P2 p;_ P P2
Then G is
(A) anull matrix (B) ascalar matrix
(C) alower triangular matrix (D) an upper triangular matrix




JELET-2019

10. Ifk > 1 and the determinant of a matrix A°is k.

kK ke B
where A=|0 o ko

0 0 k
Then ais
A) 1 3+
(A) (B)

oL
) -3 Oy k
0 0 -1
1. LetA= 10 ~-1 0. Then
-1 0 0
(A) A is anull matrix (B) A s not an orthogonal matrix
(C)  A~! doesnot exist (DI CAZE T (he identity matrix of order 3
LT ‘.’."_- .._3“
é‘-ﬂ:"“f’.h
e
12 " w s
12. A= _ 5 then. the value of the determinant | A=Y — SA098 | 5
2 -

(A) -6 (B) -3
(C) 1 (D) -1

‘1 0] 0 1] . _ _
13. II']l = { {J and L = 0 OJ and (2[ + 3E)2 = ml + nli. m and n are two real nhumbers.

then (m, n) =
(A) (4.12) (B) (12.4)

(C) (2.4 Ny (4.2

rh

JELET_B.Sc.
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14.

15.

16.

17.

18.

19.
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R W
The matrix | =3 0 1] is invertible if

-1 1 2
(A) A=-—I15 (By Ar#-—-17
(C) r=-16 (D) A#-18

If A and B are two square matrices of same order. then the matrix AB - BA 1S

(A) asymmetric matrix (3)  skew symmetric matrix
(C) anull matrix ' (MY the identity matrix
T2 3
Rank of the matrix {2 3 4|18
.
2 LTSN
0o 1 2 PR
o3
(A) 3 yB) 2
oo
(C) 1 Lo (Dy 0
o S
- _'\... L !
I -3 E
Let A= . _ 7
3 -2 .
Then the roots of det (A — XT‘% = () (I» be the identity matrix of order 2) are
(A) -2.-2 (B) 2.2
() 2,-2 . () 1.3

IfAis a3 x 3 non-singular matrix such that A'A = AAT and B = A'A ' then BB bis

(A) ATA (B) (B Y
() B! (D) 1. identity matrix of order 3

The equation x*+ 3x*+ x =1 = 0 has

(A) exactly two real roots (B) at least two real roots
(C) four real roots (1)) at least two imaginary roots

JELET_B.Sc. 6
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20. To remove the second term of the equation x7 + 6x* —12x + 32 = . we have (o increase
the roots by

(A) 2 (B) -2
(C) 1 (D) —1

21. Leto. B. v be the roots of the equation ¥ = 3py?+ 3(p=1) v+ 1 = 0.
Then the equation whose roots are 1 - a. 1 - . 1 —yis given by
(A) ¥ +3piyi—6py+2=0 (B) v =3pyi+3(p7=1)v-1=0

(C) 3y —(p*=1) v +3py—1=0 (D) ¥ +3(p—1)yi=3py+1 =0

22. On & x E_the binary operation * be defined by (a. b)*(c. d) = (a — ¢. b — d+2bd).
Then

(A) (S, *) has no identity element.

(B) (S, *) has identity element but (a.—: J has no inverse.

T O
(C) Every element of (S. *) has inverse Ful 3%
o v pf-‘?‘_-ﬁ":' 3‘-"’ o
(D) (S, *)is a group - .;—;-,f'l'-z_-f e
é';'.';.‘:.l '.4‘.?-. ‘f. =
'%;-':__,rﬂ; 3
fa 0 . L
23. LetS=%y | }|: a.be f.a#02 Then
(A) S forms a group w. r. t. matrix multiplication (*)
(B) Sisnotagroup w.r. t. matrix multiplication
(C) Sisoniy asemi group
(D) (S, *) has no identity element
24, lettf: s — Zbegivenby f(x) =x(x~=1)x+1). Then
(A) fis onc-onc and onto (B)  fis neither onc-one nor onto
(C) fis one-one but not onto (D) fis onto but not one-one

JELET B.Sc. 7
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25, Iff: & —>=andg: . — - are defined by I'(x)

Lot 8. c..fi‘._-,‘ "
lg (\ 5ax 5, 1s equal Lo
(A) {0. 1] (B) (1.2}
©) {-3.-2) (D) (23]
26. Inagroup (Q—{=1}.*), where * is defined by a*b = a + b + ab. the inverse of 3is
(a) -3 | B 5
. 3
¢ 3 (D)

27. Let a binary operation *** on J be defined by a * h=a+2bforalla.be . Then
. . . "“‘:ﬁr‘-
(A) the operation is commutative. o b
(B) the operation obeys the associmi\-'q]ﬁ‘r{)péh)'.
(C) there does not exist any identitwelement with respect to the operation detined.

=]and g (v) =[x -

3] forall v £

e - .’ . 0 - .
(D) there exists lelt identity eleniciit with respect to the operation defined.

# . then

28.  Which is the simplified representation ol (A" m B' M C) U(B N C) u (A n C) where

A. B. C are non-void subsets of X ?

(A) A (By B

(Cc) C (D) X
29.  Which of the following statements is true 7

(A) The mapping f: 1

(B) The mapping f: 7 = 2 given by f(x) =3x+ 7 is bijective.

(C) The mapping :

(D) For the mapping {: k — = given by ['(x) )= =31 ‘(\f] =

JELET B.Sc. 8

—> [ given by f(x) =x + 2 is bijective.

— ® given by f(v) =x7 — x is injective.




31.

32.

33.

34.
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For three non-void subsets A. B. Cofasat X. IlAnB=AnCand AUB=Awv (.
then

() A=C D) B=C=X

On =7 the set of positive reals, the operator * is defined by
a*b=alog bVabe “* and ge " '.q=#l. Then

(A)Y (@a*b)y*c=a*b*c)holds ¥a.b.ce -

(B a*h=b*a¥abek"

(C) (@a*b)y*c#a*b*c)Va b .cc -

(D) dnobe = forwhicha*b=aholds
If p be a relation on 7 defined by a p b itTa” — b7 is divisible by 3. then p is
(A) only reflexive (B) only svmmetric

(C) only reflexive and transitive (D) an equivalence relation

. . . . . . < . . . .
With reference to a universal set, the inclusion of a set in aiiqmir. 1s a relation. which is
oL

. s &, .
(A) symmetric only _ _:._-{;B)(Egﬁ&(ﬁu’i\'alcncc relation
R " o
(C) rellexive only oo s 20)) rellexive and transitive
Pl PR ®
£ * -1

In a college of 300 students. every student needs 5 newspapers and every newspaper is
read by 60 students. The number ol newspapers are

(A) atlcast 30 (B) at most 20

(C) exactly 25 (D) exactly 15

It A — Bis surjective. then

(A) n(A)<n(B)

(B) n(A)=n(B)

(C) n(A)=n(B)

(D) no specific order relation can be ascertained

[n(p) denotes the number of elements in p|

JELET_B.Sc. 9
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” [hC ex JI't:’SSiOH ax + b\ Chﬁi’l"t}ﬁ o EIIX’ + b"t" b S a 1‘0Lalion Of l‘t‘C[ﬂI’l”lllﬁI‘ dANCS ;th)U{
l L = - o
origin, then

(A) ab = a'b’ {B) a+b=a + N

-

(C) ‘“ﬁT (1) Prbi=at+b-

ol

For the new origin (h. k) without changing the directions of the axes. if the equation
5x2— 2y* - 30x + 8y = 0 changes to the form Ax"2+ By'2= 1. then (h. k)=

(A) (-3.2) (B) (3.2)

<y (3,-2) My (3

If the centroid of the triangle formed by the points (0. 0). (cos 0. sin 0) and (sin 0. — cos 0)
lies on the line y = x then 0 is equal to

(A) 60° (B)y 30°
(C) 45° | (D) %%
£ris
The ratio in which the join of (1. 2. 3) and (4{;—;‘3'5 is divided by the xy-plane 1s
() 1:4 JREPRITRREE
(Cy 3:5 ) (D) 5:3

If the pair of straight lines x* §2ﬁn ~ 2= 0 and 2 - 2gxy — ¥>= 0 be such that cach pair
bisects the angle between the other pair. then

(A) p=9q (B) p+q=0
(C) pq+1=0 (D) p+q=1

2

The angle between the lines joining the origin to the intersection of the line y = 3¢ +
with the curve Y2+ 2xy + 3y>+ 4y + 8y =11 =0 is
242
il
2

T

(A) 3 (B)y tan™
243 2

(C) tan~! 53 (D) i.an“%ﬂ

JELET B.Sc. 10
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43.

o
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45.

46.
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Il one of the lines of ax” + Zhvy + by” = 0 makes the same angle with the x-axis as the
other makes with y-axis, then

(A) a=b (B)y a+~bh=0

(C)y a+b=1 (D) a=b+1

The equation xy — ax — by + ab = 0 represents
(A) anellipse (B) acircle

(C) ahyperbola _ (D) apamrof straight lines

Which one of the followine {g corrert !

- Rl
. 4
v

A) v?=dax isacentral conic but 5T === 1 is not so.
2 3 g

bl 1
XM . .
(B) x? =4av is a non-central conic but & g3 = I'1s a central conic.

!
(C) y=2x2+ 3x+ 7 is a central conic but x° + 5 3 =1 is non-central conic.

(D) x2+ 3xy + 2y?= 0 is a central conic but y*+ Sxy + 6x> = 0 is not so.

h 7

L XTvT . . : g :

Consider the hyperbola Il 1. The conjugate axis Idthﬁpgcrbola 1s less or greater
. . W \ i} £

than the transverse axis according as Lo MJ Sl

(A) e>\F r <\r reqpectlyelv' e *" e

Y

(B) c<\/:01' >\rlcspuct|\t‘f’\

(C) e> \ﬁ or ¢ <42 respectively

(D) e<Af3 or e>/2 respectively

e . : XDy \ N :
I'he distance of a point on the conic % 7 = | from the centre is 1. [hen the eccentric

[

angle 1s/are given by

X L ST AT
(A) only (B) only 773

. ®Wa3T At In Sn 7z
(C) T 444 (D) only iy

JELET_B.Sc. 1 A
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47. Chords of the ellipse 2 BE — 1 touch the circle 4x? + 4y = ¢ . Then locus of their

poles 1s

w 5.5t ® 55k
a- b c at bt ¢
x2 v 2 v 4

© Gy =a D GrE e

48. The polar of a point P with respect to the parabola v= = dax is parallel to the line
x + my = 1. The locus of P is

(Ay Ix+2am=0 (B) ly+2am=0
(C) Ix—2am=0 (D) hv=2am=0

49. The equation r2sin 20 = 2a represents

(A) an ellipse (B) acncle
(C) ahyperbola of eccentricity 2 (D) alyperbola of eccentricity V2
oo
A,
50. An ellipse of axes 2a and 2b slides in a plance alwaygtouching the co-ordinate axes.
it
The locus of the centre is & s
£,
(A) acircle ‘&f"‘ (B) an cllipsc
(C) aparabola _ ~“ (D) astraight line
£ 5 ’
. Cox-=3 yv+2 z+4 . .

51. Iftheline™—5— =" =73 lics in the plane Ix + my =z =9 . then 1=+ m-will be

(A) 26 (B) 18

(C) 6 (M) 2

52. A variable plane is at a distance 3 units from the origin and meets the axes at A. Band C.
111

The locus of the centroid of the triangle ABC is Z2Tat A= Then a
(A) 1 (B -2
(C) 173 (D) 3

JELET B.Sc. 12
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n
5]

The equation of the plane through the mtersection of the planes ¥ + v + 2 = | and
2x + 3y — z+ 4 =0 and parallel to x-axis is
(A) v=37z+06=0 (B) 3y-7z+0=10

(C) v+37+6=0 (1) 3v-=27+06=0

54. The shortest distance from the plane 12x + 4y + 3z = 327 to the centre of the sphere
NI 224 dx =2y —62= 155 s
(A) 26 unit (B) 13 unit
(C) 12 unit (DY 39 unit

55. [Ifthe planes x = cv + bz, y = az + cx and z = by + ay have a common line of intersection.
R el b .
then a- + b=+ ¢-= 1+ kabc. where k =
(A) 1 (B) -1
(cy 2 Oy =2

> > > 3 > - i
56. The angle between the vectors oo = 2p + 4¢ and B = p — q . where p and g are unit
vectors inclined at an angle 120°, 1s

(A) 60° (B) 300 (,)%
(C)  120° (D) 45*0?.,}"‘?3
S e Q.‘,.»I
57. Thevalueol [a b+ ¢ a+ b +%fis
e

(A) [abc] (B) 0

- = = —> - —
(C) 2[a,bc] (D) ax(bxc)

. . B — > —y -y ———3 — » . N
58. ABCD is a quadrilateral with AB= a. AD = b and AC = 2a + 3b . If area of the
quadrilateral is o times the area of the parallelogram with AB. AD as adjacent sides, then

als
3
(A) 5 B 3
]
(C) 1 (™ 5

JELET_B.Sc. 13 A
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e T T T T B T -
59. For non-zero vectors a, b, ¢, j(a < b). ¢)|={a|[b |fc |holds i
5o o PR
(A) t-—-b :0 By a.c=b.c=0
e T s
(C) ca=a.bh=90 (D) ab=b.c=c.a=0

60. 11 D. E. F be the mid points of the sides BC, CA and AB respectively of A ABC, then

AD + BE + CF =

(A) O (B) DE
(C) EF (D) FD

Let f(x) = __Ll . Then

61.
(A) lim flx) exists
x—>0
(B) the limit does not exist ,,:fé
(C) x=0ispoint of infinite dl%Lt)l“iLlI?Ll]L-\ 5 -}‘ ‘
(D) if'we take f{0) = 1. f(x) will I“JL. cq,ntmuous atx = 0
‘I’ f’
Lo e
S
62. Let(:% — = besuch lhat le'(x- +h\ } =(x) ((y)forall x.ve-
N
Alsolet f(x)=1+x _{ﬁ;\‘?hcu lim g (x) = 1. Then f(x) is
v >[1
(A) ef (B) 2°¢
(C) anon-constant polynomial (D) 1 forallx

63. letf:[-1.1] = = be twice differentiable and T(0) = £(0) = 0. 1" (0) = 4. Then the valuc
2f(x) — Ji(Zx) + f(—l\)

of lim =

x—0 T
(A) 11 (B) 2
(C) 12 (D) 13

JELET_B.Sc. 14
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LI " 2 Ly
64. Ifv= lim (I+x)(1+x2)..(1+x") and x* < 1. then L—'\'_Z
R dx
A1 o |
(1 ) {Fj} ] ‘l‘ 'r
C) ! ) !
(€ T—‘(l n .\‘)2 ( ) ” _ .\’}:

65. A body ol'mass 6 gm is in rectilincar motion according 1o the law
s=—l+ n(t+1) = (T +1)7 . The Kinetic energy of the body one second after it begins o
move is
(A) 300 unit (B) 468 ¥ unit

(C) 415 unit (D) 384 unit

o .
Y sin—.x#0

66. lettix)= P . Then
0.x=0
w b
(A) ifa>1,B>0.0(0) exists TN
(B) f0<a-1<p.t"is conlinuolégs .altit:‘;(i Lo T
o
(C) 1f0<P<a-1.1"1sdiscontinuous at x = ()
(D) £'(0) exists forall o, p >0
67. Let im {f(x)+ 1" (x)}) =a(e <) Then
X—x
(A)  lim flx)=0. lim f'(x)=a (B) lim flx)=a. lim f'(x)=0
X N XL A
(C)  Iim flx)=5= lim f'(x) (D) one of the limits does not exist
X = x—x

JELET_B.Sec. 15
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-

. . 3 ) d-v - dy
68. Iffory=(x+/x~—1)". (x~—1 )‘(‘i:j\f i \(_L‘:‘ #ky=0thenk =
(A) m? (B) 2m-
(C) -m? (D) —2m?

69. Choosc the correct one:
(A) Rolle’s Theorem is applicable to |v] in [11._ bl(c )
(B) Rolle’s Theorem is never applicable to |x] in |a. b](c 7))
(C) Rolle’s Theorem is applicable to |v] in [a. b](c “).where 0 <a<b

(D) Rolles Theorem is applicable to x| in [a. b](c = ). where a < b <0

o
Q0

70. Letf:[a.b] - 7 be continuous in [a. b]. LIiI'I;{&ﬁﬁ%Ic in (a. b)and

e

o

f(a) =0=1f(b). Then P

(A) there exists at least one p()!lll‘t,*&:l(:i b) such that £7(c) = f ()
(B) 1’(x) =r(x) does not held:a: any point of (a. b)

(C)  there exists a point d €(a. b) for which £(x) > £ (x) holds

(D) there exists a point pe(a, b) for which f'(p) < I (p) holds

71. Letl=tana—tanfp.J, = (:();E Jy= 30:3[;. O<pf<o <%. Then
(A) I, <L J,<l By L=Li<l,
(C) I, =L1zl, (Dy I,=T=1l,

JELET B.Sc. 16
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72,

73.

74.

76.
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It £, g be dilferentiable [unctions on [0. 3| such that

£(0)=2,1(3)=6.g(0)=0,2(3) #0and f'(x) = g'(x) (#0) in (0, 3). then

(A) g(3) may have any real valuc

(C) eB)=-1

(B) a(3)=+4

(D) g3)=2

In the expansion of log( [+ x). —1 <x < 1. the co-efficient of ¥ is

|
(A) 1 By 7
H
5 L 1
L ax’tbyte ‘
If lim ——5—=2. then (a, b. ¢) is equal to
vl (=1)7
(A) (2.4.2) (B) (2.-4.2)
(C) (2,4.-2) (D) (2. -4,-2)
™

J U ae

The slope of the tangents drawn from Po- the p’éx‘ébola v2 = dav are m; and m,.
LR h

If m,; = km, then locus of Pis

(A) vZ=kax

(C)  y? =kax

Let f (x) =2x"— Inx. Then

. . I
(A) [ decreases lorx <3

I

(C) fdecreases for —5 <x<

JELET B.Sc.

E

1
2

¥
O e

v *

L A
b

17

(B) v* =(k+1)7ax

. . . 1
(B) I decreases lor0 <x <35

_ .. . ]
(D)) 1 increases for,\‘<d—r
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77.  Equation(s) of tangent(s) at the origin to the curve (x2 +1v7) = a”x”

given by

(A) x=0 (B) v=0

b LA
(C) y=78 (D) v=1ix

78. II'the subnormal is of constant length. then the curve must be a
(A) circle (BB) parabola

() eiiipse (D) hyperboia

79.  Letz(x.y) = (x — 1)>= 2y, Then
(A) zisminimum forx=1,v =10

(B) zis maximum for x = [, v = ()

T .
— b=y ab= 0isare

{C) thereis no extrema at (1. 0) .«S”
«
(D) there is extrema at (1. 0) ‘;(.%
P
i
N\
80. Given that l+xy—In(e™ +¢™) = 0. ’I'},_je_'q-g'g
{ A
. TN .
S ud R
(A) s y (B) s -7
A .
(C) 1s :‘:T (D) cannot be determined

81. Letz=1{(x+ay)+ @y —av) be twice differentiable function. Then

~2 ~7 ~3, =3
7 5 (77 (=7 5 U7/
(A) P T Y (B) Rl ¢ P
Ox* = - Ox-
~7 3 -1 -2
(©) ¢z ¢z D oz &z
5}2 O ) S “f—\_-]

JELET_B.Sc. 18
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82. Let f{x. v) and g(x. v) be homogencous [unctions of degree 0 and have continuous first
order partial derivatives.
Y ‘{\\-’ - .
Also let J (x, y) = “| Then for all x, v:
8x &y
(A) 1>0
(B) J<0
(C) I=0
(D) J possesses both signs for various values of x and v
83. letf(x,y)=x"+y>+(x+y-+1). Then f{x. v)
(A) has no extrema
. 1 1
(B) hassaddle pointat | ——.——
2 2)
4““’-"};
) ' f. 1 I . :_ ) : ) "/ -
(C) has maxima at L-———,-—— Pt
22T e
. ST
(D) hasmaximaal | ——.- =
V33
COS V 5 - 7.
84. LetZx.y)=—_—"andx=u"—-v.v=2c". Then T is
} .
(A) S {cosy-—x-sinyj
A
1 .
(B) 2 {cos y—Xxysinyy
1 2 l
(C) x*siny+ T COsYy
(D) x?cosy-—y sinv
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2 i el
2oyt
X cu au cu
fu=|x v zlthennxT +v—+z—=
- x ey 7
| I |
[
(A) 2x (B)
(C)y 2u (D) 3u
22
Y >
e W55, X7 =) .
fetfin v} - wi
lO 2evi=0

(A) 1. f)“_ do not exist at (0, 0)

(B) £,,(0.0)=1,(0.0)

(C) f,.(0.0)%f_(0.0)

(D) 1‘:\,)_(0_. 0) exists but 1';-,\' does not exist “";g
3
s '_'E‘.:rt
AU ¢ g?j?(".‘
tu (v, y) = log (ysinx+xysiny). l=5--.1%% The
Letu(x.y) =log (v sinx+xsiny) aroy ‘\.l. o I'hen
R
(A) I=1 Fow (B) 12
R
(C) I=J s (DY T+J1-0

i, = Jr:sin_l xdyand Iy = Jrsu'l"! yi-x7 dr. then

(A) 1, =1, (B) 1,=31,
nl s T
(C) I +l,=5x D) 1, - 1,=5
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89. lim 214 [ s [y
n—0 n n+3 n+o6 n+3(n*I)J|

(A) 2 By 3
(Cy 1 (Dy 13
By
90. letl= J-— dx. Then
a X
(A) IT=b-a (By I=a-b
(C) I=|bl[-a] (D) I=lal-|b]|
91. I= J- cos(In x) dx. Then
I, .
(A) I= 5 Xsin (Inx)+c
1 LY
By I= _;xz cos(In x) + ¢ LTy %
- < L
I . o . ot )
(C) T=3x{cos(Inx) -i;_ﬁ.l}_lt__f(:i]l’.},}w)}_r_—‘.:-e’
L
(D) I=3xisin(Inx)-cos(lnx)} +c¢
(c 1s constant of intcgration)
¥ 2 .
92. [ ¥V dv=
0
(A) 4 (B) 8
(C) 12 (D) does not exist
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93, [¥™ (1 —x?)!dy
: 0
(A) exists forallm.n

) . . . : I fm
(B) exists form>0.n>0and is equal to 3 \5-n]

(C) never exists

. |
(D) existsform>1.n> 1 and is equal o5} (m. n)

94. Consider ['(a) where the symbol has its usual meaning. Then
(A) l(a)=alforallae:
(By T(a)=(a+ ) toralla=0

(C) T'ta)=(a— 1)! forall positive integral values of a

*,

(D) I'(a)=(a~1)! for all rational positive values {:!;_13 _-5“‘E
'S
o
3
7 n?
[Ex" +3x+4, x<lI £
95. Let f(x)= J?. v=1. Then ;7 &
LT e
\3,\'2+(),\'+|. x>l -

(A) fis continuous at all points &~
(B) x=11sapointof jump discontinuity
(C) x=11isapoint of infinite discontinuity

(1) x=11isapointof removable discontinuity

96.  The Integrating factor of the differential equation cos v + (x siny —1) qv = Ois

(A) secx (B) scew
(C) tanx (D) wny
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97.  The general solution of ed¥/dv = x iy

(A) y=x(logx+I1)+k (B) v=x(l-logx)+k
(C) y=(l+logx)+k (D) v=x(ogx-1)+k

(where k is arbitrary constant)

98. v =2¢*— ¢ ¥is asolution of the differential cquation
(A) ¥ty = 2y=0 (B) ¥ty +2v=0

(C) y=y, —2y=0 (D) ¥y—y,+2y=v

N
d-v

99.  General solution of the differential cquation 0

+ 3y z_.r:;l%}'ﬁs

s "
A2 ]
- '! AT
X . ’.,. L AW
(A) y=c¢ cosx+te,siny—= o7 s
- :"J L 14

i Yo e -

AL

Jet X
(BY v=c¢,cos\3x+c,sinx+75

- | 2 3

)12

(C) y=c¢, cos \ﬁr +C, SinAf3x —

X

D) v=c,cosx+c¢,siny3x+3
A 1 2 2

(where ¢, ¢, are arbitrary constants)

100. The singular solution of the equation v = px - p” represents
(A) acircle
(B) astraight line
(C) apair of straight lines

(D) aparabola
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